

# PRML Chapter 6 Answer

6.3

$$\|X - X_n\|^2 = (X - X_n)^T (X - X_n)$$

$$= \phi(X_n)^T \phi(X_n) \quad (\phi(x_n) = x - x_n)$$

$$= k(X_n, X_n) \quad \text{と等しい。}$$

6.4

$$A = \begin{pmatrix} 2 & 0 \\ -1 & 1 \end{pmatrix} \text{ の } \lambda \text{ 求む。}$$

Eigen value of  $A$  is 2, 1

$$6.5 \quad (6.13) : k(x, x') = c k_1(x, x'), \quad c > 0$$

( $k_1$  is a kernel function)

$$\begin{aligned} c k_1(x, x') &= c \phi(x)^T \phi(x') \\ &= \sqrt{c} \phi(x)^T \sqrt{c} \phi(x') \\ &\text{kernel function on } \mathbb{R}^d, \end{aligned}$$

$$6.6 \quad (6.15) \quad k(x, x') = g(k_1(x, x')) \quad (k_1 \text{ is also a kernel function})$$

( $g$  is polynomial)

$$g(x) = \sum_i a_i x^i \Rightarrow g(k_1) = \sum_i a_i k_1^i$$

$$(6.18) : k(x, x') = k_m(x, x') \cdot k_n(x, x')$$

( $k_m, k_n$  are kernel functions)

$\Rightarrow k(x, x')$  is a kernel function

是  $\mathbb{R}^d$  上的核函数的积。

$k_1^2 \in$  kernel function

(6.13) 的: 定数倍是 kernel function 的积:

$\sum_i a_i k^i$  is a kernel function (17)

(6.16)

use Taylor Expansion of the exponential function

6.7 (6.17)  $K, k$  Gram Matrix  $\in K_1, K_2 \ni \{ \}$ .

$$K = K_1 + K_2$$

$$\omega^T K_1 \omega \geq 0, \quad \omega^T K_2 \omega \geq 0 \quad \forall \omega. \quad \omega^T (K_1 + K_2) \omega = \omega^T K \omega \geq 0 \quad \forall \omega$$

(6.18)  $k(x, x') = k_1(x, x') + k_2(x, x')$

$$= \phi^T(x) \phi(x') + \psi(x) \psi(x')$$

$$= \sum_{i=1}^M \phi_i(x) \phi_i(x') + \sum_{j=1}^N \psi_j(x) \psi_j(x')$$

$$= \sum_{i=1}^M \sum_{j=1}^N \underbrace{\phi_i(x) \psi_j(x)}_{\text{kernel function } \phi_i \psi_j} \phi_i(x') \psi_j(x')$$

kernel function  $\phi_i \psi_j$

$$6.8 \quad (6.19) \quad k(x, x') = k_3(\phi(x), \phi(x'))$$

$$\hookrightarrow \psi(\phi(x))^\top \psi(\phi(x')) = \underbrace{\Phi(x)^\top \Phi(x')}_{\text{kernel function}}$$

$$(6.20) \quad k(x, x') = x^\top A x$$

A は対称な半正定値行列なり。対角化  $U$ 。

$$A = U^\top \bar{E} U, \quad x^\top A x = x^\top U^\top \bar{E} U x =$$

$$(Ux)^\top = x^\top U^\top \text{ (")} \quad = \underbrace{(Ux)^\top \bar{E} (Ux)}_{\text{kernel function}}$$

linear combination.

$$6.10 \quad y(x) = k(x)^\top \alpha$$

$$\Rightarrow \sum_{n=1}^N f(x_n) f(x) \cdot \alpha_n \propto f(x) \quad \square$$

$$6.11 \quad \exp(x^\top x' / \sigma^2) = \sum_{n=0}^{\infty} \frac{(x^\top x' / \sigma^2)^n}{n!}$$

$\underbrace{\hspace{10em}}_{\text{有数の kernel}}$

すなわち (6.23) にも有数の kernel.

6.13  $k(x, x') = g(\theta, x)^T F^{-1} g(\theta, x')$  Fisher kernel

微分演算子行列  $A$  (大きさ  $n$ )  $A^T A = I$  とする.

$$g(\psi(\theta), x)^T F^{-1} g(\psi(\theta), x')$$

6.14.  $p(x|\mu) = \mathcal{N}(x|\mu, S)$

$$g(\mu, x) = \nabla_{\mu} \ln p(x|\mu) = S^{-1}(x - \mu)$$

according to (6.34)  $\bar{H} = E_{\mu} [S^{-1}(x - \mu)(x - \mu)^T S^{-1}]$   $E_x [(x - \mu)^T (x - \mu)] = S$

$$\bar{H} = S^{-1} \quad k(x, x') = (x - \mu)^T S^{-1} (x' - \mu)$$

6.17  $E[y(x)] = \frac{1}{2} \sum_{\xi=-1}^1 \int \{y(x_n + \xi) - t_n\} \mathcal{L}(\xi) d\xi$

$$E[y(x) + \varepsilon \eta(x)] = E[y(x)] + \varepsilon \int \eta(x_n + \xi) \{y(x_n + \xi) - t_n\} \mathcal{L}(\xi) d\xi + O(\varepsilon^2)$$

∴  $\int \eta(x_n + \xi) \{y(x_n + \xi) - t_n\} \mathcal{L}(\xi) d\xi = 0 \quad \dots (1)$

$$\eta(x_n) = \delta(x_n - x) \text{ とする}$$

$$\int \delta(x_n + \xi - x) \cdot \{y(x_n + \xi) - t_n\} \mathcal{L}(\xi) d\xi$$

$$= \{y(x) - t_n\} \cdot \mathcal{L}(-x_n + x) \text{ である.}$$

$$\textcircled{1} = \sum \{y(x) - t_n\} \cdot \mathcal{L}(-x_n + x) = 0$$

§7.

$$g(x) = \frac{\sum t_n \psi(x - x_n)}{\sum \psi(x - x_n)}$$

□

6.18  $f(x, t) = f(z) = N(z|0, \sigma^2) = \frac{1}{2\pi} \cdot \frac{1}{\sigma^2} \exp\left\{-\frac{1}{2} z \frac{1}{\sigma^2} z\right\}$

(6.47) §7.

$$g(x) = \int_{-\infty}^{\infty} f(x, t) = \int_{-\infty}^{\infty} \frac{1}{2\pi} \cdot \frac{1}{\sigma^2} \exp\left\{-\frac{1}{2\sigma^2} (x^2 + t^2)\right\} dt$$

$$= \frac{1}{2\pi\sigma^2} \exp\left(-\frac{x^2}{2\sigma^2}\right) \int_{-\infty}^{\infty} \exp\left(-\frac{t^2}{2\sigma^2}\right) dt$$

$$= \frac{1}{2\pi\sigma^2} \cdot \sqrt{2\pi\sigma^2} \cdot \exp\left(-\frac{x^2}{2\sigma^2}\right) = \frac{1}{\sqrt{2\pi\sigma^2}} \exp\left(-\frac{x^2}{2\sigma^2}\right)$$

(6.46) §7.

$$k(x, x_n) = \frac{\exp\left\{-\frac{(x-x_n)^2}{2\sigma^2}\right\}}{\sum_m \exp\left\{-\frac{(x-x_m)^2}{2\sigma^2}\right\}}$$

(6.48) 1: ついでに同様に

$$p(t|x) = \frac{1}{\sqrt{2\pi\sigma^2}} \frac{\sum_n \exp\left\{-\frac{(x-x_n)^2 + (t-t_n)^2}{2\sigma^2}\right\}}{\sum_m \exp\left\{-\frac{(x-x_m)^2}{2\sigma^2}\right\}}$$

$$= \sum_n k(x, x_n) \frac{1}{\sqrt{2\pi\sigma^2}} \exp\left\{-\frac{(t-t_n)^2}{2\sigma^2}\right\}$$

$$= \sum_n k(x, x_n) N(t|t_n, \sigma^2)$$

$$6.21 C_N = I_N + \beta^{-1} \Pi_N$$

$$\frac{1}{\alpha} \Phi \Phi^T \quad k = \begin{pmatrix} k(x_1, x_{N+1}) \\ \vdots \\ k(x_N, x_{N+1}) \end{pmatrix} = \frac{1}{\alpha} \Phi \phi(x_{N+1})$$

(6.66) により.

$$\begin{aligned} m(x_{N+1}) &= \frac{1}{\alpha} \phi(x_{N+1})^T \Phi^T \left[ \frac{1}{\alpha} \Phi \Phi^T + \beta^{-1} I_N \right]^{-1} t \\ &= \frac{1}{\alpha} \phi(x_{N+1})^T \alpha \beta \left[ \beta \Phi \Phi^T + \alpha I_N \right]^{-1} \Phi^T t \\ &= \beta \phi(x_{N+1})^T S_N \Phi^T t \quad \square \end{aligned}$$

6.25

$$\begin{aligned} a_N^{\text{new}} &= a_N - (-W_N - C_N^{-1})^{-1} (t_N - \sigma_N - C_N^{-1} a_N) \\ &= a_N + (W_N + C_N^{-1})^{-1} (t_N - \sigma_N - C_N^{-1} a_N) \\ &= (W_N + C_N^{-1})^{-1} \left\{ (W_N + C_N^{-1}) a_N + t_N - \sigma_N - C_N^{-1} a_N \right\} \\ &= (W_N + C_N^{-1})^{-1} \left\{ W_N a_N + t_N - \sigma_N \right\} \\ &= C_N C_N^{-1} (W_N + C_N^{-1})^{-1} (t_N - \sigma_N + W_N a_N) \\ &= C_N (C_N W_N + I)^{-1} (t_N - \sigma_N + W_N a_N) \end{aligned}$$

□

6.26

$$\begin{aligned}
 p(a_{n+1} | t_n) &= \int p(a_{n+1} | a_n) p(a_n | t_n) da_n \\
 &= \int N(a_{n+1} | k^T C_n^{-1} a_n, c - k^T C_n^{-1} k) \cdot N(a_n | a_n^*, H^{-1}) da_n
 \end{aligned}$$

$$p(a_n | t_n) = N(a_n | a_n^*, H^{-1}).$$

$$p(a_{n+1} | a_n) = N(a_{n+1} | k^T C_n^{-1} a_n, c - k^T C_n^{-1} k)$$

$$p(a_{n+1} | t_n) = N\left(a_n | k^T C_n^{-1} a_n^* = k^T C_n^{-1} C_n (t_n - \sigma_n),\right.$$

$$c - k^T C_n^{-1} k + k^T C_n^{-1} H^{-1} (k^T C_n^{-1})^T$$

$$= c - k^T (C_n^{-1} - C_n^{-1} H^{-1} C_n^{-1}) k$$

$$= c - k^T (C_n^{-1} (C_n W_n C_n + C_n^{-1})^{-1}) k. \quad \square$$